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% # s - BRHE s ¥ 8 i & & =
BRI 17,636,180 + 2,101,133 19,737,313
EEAGHE 17,636, 180
EERE 2,101,133
Z Ot [ 1 17,636,180 x 53.85% ( 35% = (1 — 35%) ) 9,497,082
KB RE 19,737,313 + 9,497,082 29, 234, 395
—REEERE 29,234,395 x 53.85% (35% = (1 — 35%) ) — 7,116 15,735, 605
EX T 29,234,395 + 15,735, 605 44,970, 000
HETEELE 44,970,000 x 10.00% 4,497,000
¥BERAH 44,970,000 + 4,497,000 49, 467,000
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B[R 19, 737, 313
EESEEERBHBLEICKRIEERHER TR 19,737, 313
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EESEAERBHBLEICKRIEERHERTR 19,737, 313
EEAREERERSEICKRIEEGHERT 17,636, 180
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1 BEEHERITRIER 12.00 1, 406, 940 16, 883, 280
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5 EXARE 1.00 164, 044 164, 044
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HEm (A)
A 0.70 57, 000. 00 39, 900
A& (C)
A 35. 60 38, 400. 00 1,367,040
& B YE%8eHh :1.004 8 1, 406, 940. 00 1, 406, 940
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A 1.50 64, 800. 00 97, 200
A (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.00 47, 200. 00 94, 400
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A 2.00 38, 400. 00 76, 800
& B fEZ8EH - 1. 00K 353, 900. 00 353, 900
=:3
&F: TEE 1By
% L A - kTiE By H = B {f B i &
HEm (A)
A 0.50 57, 000. 00 28, 500
& R YEZREH - 1.00[E=] 28, 500. 00 28,500
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A 0.50 57, 000. 00 28, 500
& B YEZHRES : 1.00[H 28, 500. 00 28, 500
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= 1.00 164, 044. 00 164, 044
& it YE¥REH : 1.00 164, 044. 00 164, 044
&5 :6
&% BERERARE 1KLY
% E R - BRTE BARL 2 B & %8 fi
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= 1.00 328, 089. 00 328, 089
& &t fEEfEH - 1.00K 328, 089. 00 328,089
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= 1.00 565, 000. 00 565, 000
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= 1.00 1,017, 000. 00 1,017,000
& it YE¥REH : 1.00 1,017, 000. 00 1,017, 000




